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答案 Answer 
 

► A-2 ◄ 
 

1 - 1  
1) (ii), (iii) 2) (i), (ii) 3) (i), (iii)  4) (ii), (iii) 
5) (ii), (iii) 6) (i), (iii) 7) (i), (ii) 8) (ii), (iii) 
9) (i), (ii) 10) (ii), (iii)   

1 - 2  
1) y+y, 2⋅y 2) x+x+x+x+x, 5⋅x 3) ab+ab+ab+ab, 4⋅a⋅b 
4) pq+pq+pq, 3⋅p⋅q 5) x2+ x2+ x2, 3⋅x⋅x 6) y5+y5, 2⋅y⋅y⋅y⋅y⋅y 
7) a2b+a2b, 2⋅a⋅a⋅b 8) xy2+ xy2+ xy2+ xy2, 4⋅x⋅y⋅y 

2 - 1  
1) 4p   2) r   3) 5t   4) y   5) 5n   6) –6x   7) 12y+1   
8) 7+3n   9) 6x–6   10) 5–2y   11) 6+3a   12) 2x+5y 

2 - 2  
1) 15n 2) 8m 3) 7ax 4) 243k 5) 5a/3 6) 3x2y 
7) 2k4 8) 25b2 9) 6a2 10) x/3 11) 6 12) p2q 
13) 2y2 14) 1/4 15) 21ab 16) 8n   

3 - 1  
1) y⋅y⋅y⋅y 2) 4⋅x⋅x 3) ab⋅ab⋅ab  4) 3m⋅3m 
5) 6⋅x⋅x⋅x 6) 5⋅a⋅a⋅a⋅a 7) x⋅x⋅x⋅x⋅x⋅x  
8) y⋅y⋅y⋅y⋅y⋅y⋅y⋅y⋅y 9) x⋅x⋅x⋅x⋅x⋅x 10) 2⋅a⋅a⋅2⋅a⋅a⋅2⋅a⋅a 

3 - 2  
1) 4⋅a⋅a, 4a2 2) 5⋅t⋅t⋅t, 5t3 3) 7⋅x⋅x⋅4⋅x⋅x⋅x, 28x5

4) 2⋅x⋅y⋅y⋅2⋅y⋅x⋅x, 4x3y3 5) r⋅r⋅r⋅r⋅r⋅4⋅r, 4r6 
6) a⋅a⋅3⋅a⋅a, 3a4 7) 4⋅x⋅3⋅x, 12x2 8) 2⋅x⋅2⋅x⋅2⋅x, 8x3 
9) a⋅a⋅a⋅a⋅a⋅a, a6 10) 3⋅y⋅y⋅y⋅3⋅y⋅y⋅y, 9y6 

3 - 3  
1)   2)   3)   4)   5)   6)   7)   8)   9)   10)  

3 - 4  
1) (i), (iii) 2) (i), (iii) 3) (ii), (iii)  4) (i), (ii) 
5) (ii), (iii) 6) (i), (ii) 7) (i), (ii) 8) (i), (iii) 

4 - 1  
1) a6 2) 2a3 3) 6x2 4) 5x 5) 6y8 6) 5y4 
7) y7 8)  9) 2x3 10)  11) 2k4 12)  
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 ► A-3 ◄ 
 

4 - 2  
1) 5m+2n 2) x2/2 3) 6y2–4x2  4) 2ab 

5) 6k 6) 2r 7) 

a
1 +b 8) 3x2 

9) p3+k2 10) 0 11) a3/2 12) 

r
3pq –2 

4 - 3  
1) 6a 2) a6 3) 3a2 4) 2a3 5) a4+a2 6) a5+a 
7) a4+2a 8) 2a+2a2 9) 4a+a2 10) 2a2+2a 

5 - 1  
1) 1, 3, 5, 7 2) 5, 12, 21, 32 3) 1, 4, 9, 16 4) 4, 2, 0, –2 
5) 1/2, 1/3, 1/4, 1/5 6) 0, 1/3, 1/2, 3/5 7) 3, 9, 27, 81 
8) –3, 3, 13, 27 9) 3/2, 5, 21/2, 18 10) 2, 3/2, 4/3, 5/4 
11) –1/3, –1/2, –3/5, –2/3 12) –2, 4, –8, 16 

5 - 2  
1) 14, 17, 20 2) 36, 49, 64 3) 6/7, 7/8, 8/9 4) 3, –1, –5 
5) 256, 1024, 4096 6) 1/8, 0, –1/10 7) 63, 80, 99 
8) 129, 257, 513 9) 72, 90, 110 10) 45, 60, 77 

5 - 3  
1) 6n–6 2) 2n+1 3) 2n+6 4) 3n–2 5) 10–2n 
6) 5n–1 7) –2n 8) 1–2n 9) 4n–5 10) 7–3n 

6 - 1  
[A]  1) 12  2) 14  3) 25  4) 13  5) 18  6) 144  7) 1  8) 1   
9) 8/7  10) 2/5    [B]  1) –12  2) – 14  3) 1  4) 13  5) 18   
6) 144  7) 1  8 ) 17  9) –2/3  10) –2/5 

6 - 2  
1) 81  2) 1650  3) 540  4) 27.5  5) 24  6) 40  7) –7  8) 60  
9) 1600  10) 1/6 

6 - 3  
1) –8, –7, –6, –9, –10, –12  2) 9, 3, 1, –1, –3, –5 
3) 7, 2, –8, –13, –18, –23  4) –5, –3, –1, 3, 5, 7  
5) –9, –5, –1, 7, 11, 15 

6 - 4  
1) 19, 3, –6, –2, 3, 10 2) 19, 3, 1, 3, 9, 19 3) 0, –2, 4, 10, 18, 28 
4) 18, 3, –6, 3, 18, 39 5) –8, 2, 8, 8, 2, –8 6)–5, –11, 1, 1, –1, –5 
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► A-4 ◄ 
 

7 - 1  
[A]  1) x+4  2) 6+x  3) y–5+r  4) x/2  5) 4x  6) xy  7) 9p 

8) w/4     
[B]  1) w+4  2) v–6  3) x2–6  4) 3x+y/2  5) (a+b)/2  6) (h+k)2  

7) a2+b2 

7 - 2  
(A) 1)3n/5 2) 5+3n 3) 5n/18 4) 5+6/n 5) nwy
(B) 1) 7y 2) 12n 3) 60z 4) 100x 5) 1000y 6) t/60
(C) 1) n+k 2) 24–k 3) 9+x 4) n–8  

7 - 3  
1) $3000/n  2) (65–x)kg  3) 40n  4) $xy  5) x–5  6) $(x+y+15) 
7) $(x–y)  8) 12x  9) p/4  10) $(4x+2.5y)  11) $s/14  12) n/2 kg 

7 - 4  

1) 2(a+b)cm  2) 

2
1 bh cm2  3) ab cm2  4) 

2
k2

 cm2  5) 4x cm 

6) 

16
y2

cm2  7) 6s2 cm2  8) 

16
b2

cm2  9) ( −
2
P ) cm  10) 

w
A cm 

7 - 5  
1) y/15 hr 2) 6v km 3) kx m 4) d/y hr 5) x/y km/hr
6) 25s/3 sec 秒 7) (mx+ny) km 8) 12y km 

7 - 6  
1) 62–3y 2) (a–bn) kg 3) $rsx/100 4) a. 1.5n m3  b. w/1.5 
5) x+2 6) t+1 7) 18(x+y) 8) (3k/2) cm 

8 - 1  
(i) 1) 3 2) 1 3) –5 4) 4     
(ii) 5) 1/2 6) –4 7) –8 8) 0 9) 0 10) –6 11) 2 12) –8

8 - 2  
1. (i) –x3+3x2+4x+1 (ii) x4+5x2–3x+2 (iii) 3x3+2x–6 
 (iv) –4x5+7x4+x3+6x2–2 
2. (i) 8–2y+y2–y3  (ii) –1+3y–4y2+6y5 (iii) –2+4y2+2y3–y5 
 (iv) 10+2y+9y2–7y3 

8 - 3  
1) 3x2, x2   2) 2a2b, 5ba2   3) 2b, b   4) –mn, nm   5) 4t, –25t 

8 - 4  
1) 5a  2) 6y  3) 6k  4) 9x  5) 0  6) a  7) 5a  8) 10x  9) 5x+4y 
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10) 3a+1 11) 4x–1 12) 6x+7y 13) 2p–6q 14) 6a–2b 
15) 2x+11 16) 6y–x 17) 9a+17 18) b  

8 - 5  
1) –y2–4y+2 2) 10x2–10x 3) 15ab–6b 4) 11ac+3bc 
5) 4x2+10x 6) xy2+3x2y 7) 10a2 8) –3a3–7 
9) 18abc–18bc 10) –7x2+6x+4 11) 10x2–4x+1 
12) –3a2b2 13) 9x3y 14) 9x2–8x+2 15) –a2+5a+17 
16) 8y2–4y+11 17) 2x2+18x+9 18) a3–7a2+2a+21 

8 - 6  
1) 3x/4   2) y/2   3) 23a/10   4) 19x/4   5) –5b/7   6) n/6  
7) –a    8) 5y/2   9) 5x/18   10) 29a/36 

8 - 7  
1) 3x  2) 7y  3) 12a  4) 9k  5) 9x  6) 8m  7) 0  8) 19a  9) 31x 
10) 41x+3  11) 14x+13  12) 8y  13) 6–4a  14) 36–19x  15) –32n 

9 - 1  
1) 12x+12 2) 7y+9 3) x2−4x+8 4) −3a+6b−6 5) 3x2y+5xy2 
6) 4xy−4y2 7) −3a−5b+23c 8) 11x2−13x+4 9) 7a2−10a+30 
10) −p4−9p3+p2+8p+6 11) 4y3+2y2−7y+13 12) 5x2−7x+5 

9 - 2  
1) −3x+20 2) 3x+3 3) 5r+2 4) x−9 5) 12y−6 6) 4a+4b 
7) 12x−8y 8) 16n+2 9) −3a−10b 10) 5x2−5y2 11) 0 
12) −5a2−4a+16 13) a 14) −x+8y 15) a−2 16) −5x−4y 

9 - 3  
1) 7x+17 2) −2y−7 3) −a2+a+4 4) 7x2+10x+3 5) −10n2+8n−9 
6) 7x2−20x+23 7) 3y2+4 8) 7x−3y+z 9) 10y2−22y−10 
10) −2x2−3x−6 11) 19x−17 12) x+14y−10 13) −a+7b 
14) −4a−14 15) 4x   

9 - 4  
1) 9x−2 2) 5x−4 3) 13a+4b 4) −3a−2b 5) 6x−5y 
6) −2x−17y 7) 7m−11n 8) −m+7n 9) 13x2+8 10) 17x2+6 

9 - 5  
1) 5a+3b+2c 2) a−7b+6c 3) −x+10y−7z 4) −3x+6y−3z 
5) x2+9x−7 6) 5x2−3x−11 7) 5p−5q+4r 8) −3q−9p+6r 
9) 7x2−6x−10 10) −3x2+8x−2 11) 4y2−12y+9 12) 10y2+8y−7 
13) 8a2−7a+3 14) 38a2−15a−11   
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► A-6 ◄ 
 

9 - 6  
1) 4x2+5x−2 2) −3a2−10a+6 3) 6y2+5y−11 4) 3y2+9y−10 
5) −15a−4b−15c 6) −12p+7q+8 7) −x2+x+3 8) −y2+6y−10 
9) 5x2−11x+12 10) 7−4x−3x2−3x3 11) −19a2+11a−12 
12) 13x3+5x2−2x+14   

1 0 - 1  
1) 4p+4q 2) 36−12n 3) 5a−15b+20c 
4) 6x+3y+18z 5) 3x−9y+3z 6) 14a+28b−7c 
7) 2x2+6x−2 8) 24y2−8y+40 9) 36x2+9x−81 
10) 8m2+12m−32 11) 4ax+5bx 12) 2py−3qy 
13) 3y2−12y 14) 18a2+63a 15) 6x2y+4xy2 
16) 15a2b−18ab2 17) 15t3−8t2 18) 2h3+2h2 
19) 24n3+12n2+36n 20) 32r3−8r2−24r 21) 2a4−14a3+4a2 
22) 12b4+24b3−54b2 23) 16x4+24x3−8x2 24) 15y4−10y3−20y2

1 0 - 2  
1) −5a−5b 2) −44+11y 3) −8x+6y−2z 
4) −6a−6b−36c 5) −3a+18b−12c 6) −24x2−8y+16 
7) −4y2−8y+4 8) −12n2+24n−12 9) −14x2+35x+42 
10) −14m−16n−2r 11) −4hy−3ky 12) −2ax+9bx 
13) −6x2+30x 14) −10y2−35y 15) 8a2b+32ab2 
16) 18x2y−3xy2 17) −14x3−11x2 18) −4c3+12c2 
19) −24a4−36a2b−60a2 20) −7q3+7q2+28q 21) −2x4+26x3−2x2

22) −6y4−48y3+12y2 23) 6x4−15x3+21x2 24) 5e4+15e3+25e2 

1 0 - 3  
1) x2+7x+12 2) x2+10x+9 3) 6m2+5m+1 
4) 50n2+15n+1 5) x2+7xy+6y2 6) a2+9ab+14b2 
7) 6b2+13bc+6c2 8) 20m2+41mn+20n2 9) 7x2+13xy+6y2 
10) 2p2+7pq+5q2 11) 6ar+8as+3br+4bs 12) 3bx+18cx+by+6cy
13) 12y4+23y2+5 14) 2a4+5a2b+2b2 15) 10a2b2c2+17abc+6
16) 42xy2z2+14xyz+6yz+2 17) 8x4+19x2y2+6y4 
18) 10a3+40a2+2a+8 19) 24x2+38x+15 20)24a2b2+44ab2c+12b2c2

1 0 - 4  
1) a2+4a−5 2) b2−2b−3 3) x2−11x+28 
4) y2−11y+18 5) 2m2+5m−12 6) 33n2−5n−2 
7) 18x2−12xy+2y2 8) 8a2−14ab+5b2 9) 3r2−rs−4s2 
10) 8p2−50pq−42q2 11) 36a4−29a2+5 12) 2x4−28x2+80 
13) 10x2y2z2−xyz−3 14) 6x3+24x2−2x−8 15) 8a3−13a2b2+5b4
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16) 12x3−49x2y2+49y4   

1 0 - 5  
1) x2+4x−5 2) y2−y−12 3) a2+a−42 
4) s2−14s+40 5) 12x2+20x+3 6) 8a2+29ab−12b2 
7) 25m2−n2 8) x2−4xy−21y2 9) 7x2−3xy−4y2 
10) 2a2+7ac+5c2 11) 3x4−22x2−16 12) 3y4−8y2+5 
13) 13a4+129a2b−10b2 14) 6x4−23x2y−4y2 15) 

18x2y2z2+22xyz−28 
16) 15p2q2r2−34pqr+16 17) 9a2−21abc−8b2c2 18) 2x2−3xyz−27y2z2 
19) 4ax−16x+3ay−12y 20) 10by−50b+14cy−70c 21) −x2−3x−2 
22) y2−y−12 23) −8x2+16xy−6y2 24) 2a2+11ab−6b2 

1 0 - 6  
1) 6x3+a2+17a−6 2) 4x3+7x2−16x−3 3) 20p3+26p2+4p−2 
4) 5r3−41r2+52r−12 5) 48−2y+2y2−3y3 6) −14−5m−3m2−2m3 
7) 8y3−24y2+36y−27 8) 4x3−48x2−24x+3x2y−36xy−18y 
9) 8a3−34a2b+25ab2−14b3 10) 12x3+26x2y−2xy2−y3 
11) 3x3−5x2y+3x−2xy2+y 12) −15a3−4a2b+24ab2−8b3 

1 0 - 7  
1) −6a2+22a+8 2) 4x2−4xy−8y2 3) −12m2−60m+6mn+30n 
4) y3+5y2−8y−12 5) x3+5x2−2x−24 6) 12a3−46a2+48a−14 
7) 10m3+9m2−13m−6 8) 4k3−61k2+204k+189 
9) 12x3+40x2−97x+15 10) 6r3+3r2−66r+72 
11) −28a3+25a2+67a−10 12) −3x3+20x2y−23xy2−10y3 

1 0 - 8  
1) 4x2+4x+1 2) 9y2+12y+4 3) a2−14a+49 
4) m2−8m+16 5) 25y2−60y+36 6) 16x2−24x+9 
7) 64x2+16x+1 8) 81y2+36y+4 9) 16+16a+4a2 
10) 49+42b+9b2 11) 25−90y+81y2 12) 36−12x+x2 
13) 9x2−12xy+4y2 14) 64a2−16ab+b2 15) a2b2+8ab+16 
16) p2q2+12pq+36 17) 9x4−42x2+49 18) 4k4−36k2+81 
19) 25y2+20y+4 20) 16x2+24x+9  

1 0 - 9  
1) 7x2−20x−3 2) 10y2−3y−4 3) 24t2−18t−15 
4) −8a2−22a−9 5) 3r2−2r−8 6) −5x2+41x+36 
7) 6x2−41xy−7y2 8) −6a2−31ab−40b2 9) 6m2−23mn−4n2 
10) 12p2q2+47pq+45 11) −5x4+47x3−56x2 12) −20y4+62y3−6y2 
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1 0 - 1 0  
1) 2a3−a2−23a+7 2) 24p3−34p2+17p−2 3) −15x3+38x2−4x−24
4) −24y3+56y2−12y−8 5) 15k4+3k3−50k2−4k+40 
6) 14x4−10x3−23x2+15x+3 7) −7m4+31m3−7m2−20m 
8) −3y4+13y3+3y2−y−2  

1 1 - 1  
1) 5a+3 2) 11–5y 3) 2+12m 4) 11x+y 5) 9a–21b 
6) –9x 7) –2a2–10a 8) 2x2 9) –3y2+18y 10) –x2–14x
11) 10x–16 12) 5y–6 13) 12 14) 18a–33 15) –17k–9 
16) 34–41y 17) 26x+16 18) –9r–6   

1 1 - 2  
1) –10y3–2y2–12 2) 2y2–y+26 3) –7x3+7x2+2x 4) 4y2–41y–75 
5) x2–2x 6) a2–8a+3 7) 22x2+24x+65 8) –10m2+29m+1
9) 2a2–8a+11 10) –3x2+21x+4  

1 2 - 1  
1) 25a2+10a+1 2) 4x2+12x+9 3) 9x2–42x+49 
4) 16y2–8y+1 5) r2–8r+16 6) b2–16b+64 
7) 36+24y+4y2 8) 121+66x+9x2 9) 49a2–56ab+16b2 
10) 36x2–60xy+25y2 11) 81y2+54y+9 12) 144a2+120a+25 
13) a2b2+2ab+1 14) 36–24xy+4x2y2 15) 9p2q2r2–24pqr+16
16) 25x2y2z2+20xyz+4 17) y4+10y2+25 18) 9e4–6e2+1 
19) 4m6+36m3+81 20) 36x6–84x3+49 21) 16x2+8x+1 
22) 25y2+30y+9 23) 100+40k+4k2 24) 64–48m+9m2 

25) x2+2+ 2x
1  26) 9y2–6+ 2y

1  27) 
2a

4 –
ab
12 + 2b

9  

28) 
2x

16 –
xy
48 + 2y

36  29) 18x2+48xy+32y2 30) 144a2–240ab+100b2

1 2 - 2  
1) 4x2–1 2) 9y2–4 3) 25a2–16 4) 16m2–49 5) 4x2y2–36
6) 36a2b2–25 7) 16a2–9b2 8) 49x2–y2 9) x2–144 10) y2–100
11) 9a4–49 12) 81–16x4 13) 4x6–1 14) 25k6–4 15) x2–1/x2

16) 4y2–1/4y2 17) 25a2–9/a2 18) 49d2–1/4 19) 3y2–48 20) 8a2–72
21) y2–64x2 22) 9b2–a2 23) 1–x4 24) 144–4y4  

1 2 - 3  
1) 49–42x+9x2 2) 49–9x2 3) 16y2–25 
4) 4a2+3ab+81b2 5) 64y4–1 6) 36x4–12x2+1 
7) 9–24x+16x2 8) 25y6+20y3+4 9) 36x2y2–1 
10) 49a2b2+42ab+9 11) 12x2–60xy+75y2 12) 256x2–4 



 答案 Answer 

 

 ► A-9 ◄ 
 

13) 4a2–1/4 14) 16y2+4y+1/4 15) m8–m4 
16) m8+2m5+m2 17) 4a2b2–12abcd+9c2d2 18) 80x2y2–80xy+20 
19) 36a2–49b2 20) x6+2x3y3+y6  

1 2 - 4  
1) x2+6x+9−16y2 2) a2+b2+c2+2ab+2ac+2bc 
3) x4+2x3–x2–2x+1 4) 16a2–32ab+16b2 
5) 16x4–16/x4 6) 4x2+9y2+12xy+16x+24y+16 
7) 245a2+280ab+80b2 8) 9m2+4n2–12mn–24m+16n+16 
9) 9x2+12xy+4y2–1 10) p2–q2+2qr–r2 

1 3 - 1  
1) 7 2) 8 3) 8 4) 1/7 5) 18 6) 0 7) 17 
8) 8 9) 28 10) 25 11) 16/3 12) 1/3 13) –8 14) –11 
15) 4 16) –7/4 17) 0 18) –3/2    

1 3 - 2  
1) 11 2) 7 3) 6 4) 3 5) 12 6) 10/7 7) 8 
8) 1/2 9) 4 10) 3/5 11) –3 12) –1 13) –6 14) –14 
15) 6 16) –5 17) –9/11 18) 3/14 19) 7 20) 4 21) –4 
22) –3 23) 11/2 24) 17/5     

1 3 - 3  
1) 12 2) –30 3) –5 4)3 5) –17/2 6) 10 7) 26 
8) 7 9) 2/3 10) 10 11) –6 12) 5 13) 5/4 14) 5 
15) –2 16) –14/5 17) –7 18) 7/3 19) 9/2 20) –1  

1 3 - 4  
1) 9 2) 25/2 3) 10/7 4) 12 5) 6 6) 36 7) –16/3 
8) 35/4 9) 16/3 10) 3/5     

1 3 - 5  
1) 8 2) –2/3 3) 0 4) 14/5 5) 3 6) 19/7 7) 30 
8) 11/3 9) –9 10) –25/9     

1 3 - 6  
1) 2 2) 49/3 3) –35 4) –5/3 5) 29/10 6) 11/7 7) 35/2 
8) –23 9) –11/14 10) 3     

1 3 - 7  
1) 5 2) –37 3) 2 4) 6 5) 18 6) 0 7) –10 8) 15 
9) –16 10) 4 11) 1/5 12) 43 13) 4 14) –10 15) –1/3 

1 3 - 8  
1) 24 2) –4/3 3) –5 4) 19 5) 19/18 6) 15/11 
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7) –3 8) 19/14     

1 3 - 9  
1) –31/3 2) –8 3) 3 4) 6 5) –20/3 6) –119/9
7) –3 8) 6 9) 4/3 10) 11/5   

1 3 - 1 0  
1) –9 2) 53/8 3) –22/5 4) –20/11 5) 7 6) 26/35 

1 3 - 1 1  
1) –40 2) 1/10 3) –11 4) 4 5) 5/2 6) 2 
7) 27/7 8) –5/6     

1 3 - 1 2  
1) –2 2) 11 3) 4 4) 11 5) 31 6) –75/11
7) –11/6 8) 2 9) 5 10) 24/5   

1 3 - 1 3  
1) –6 2) 15/2 3) –32 4) –1/17 5) 0 6) –11/10

1 3 - 1 4  
1) 20/9 2) 3/2 3) –23/6 4) 0 5) 13/4 6) 1/5 
7) 11 8) –3 9) 20 10) 9 11) 7 12) –15/4
13) –18 14) 4 15) 1/3 16) –4 17) –45/23 18) –2 

1 4 - 1  
1) 47 2) 9 3) 29 4) 16 5) 9 6) 13 7) 7 8) 11 
9) 147 10) 15 11) 6 12) 11 13) –6 14) 9 15) 12  

1 4 - 2  
1) 27 2) 21 3) 19 4) 11 5) 10 6) 19 7) 52 
8) 15, 12 9) 67, 23 10) 14 11) 5   

1 4 - 3  
1) 37, 38 2) 17, 19 3) a. x+1, x+2 ;  b. 30 ;  c. 30, 31, 32 
4) 16, 17, 18 5) 12, 14, 16 6) 14, 16 7) 15, 17 8) 20, 21

1 4 - 4  
(A) 1) 12 2) 6.5 3) 7 4) 2.5 
(B) 1) 9cm 2) 9.5cm 3) 128cm2  

1 4 - 5  
1) Mabel 美寶: $80, Janet 珍妮: $240 2) 26kg 3) 16kg 4) $89
5) A: 4, B: 3 6) Paul 保羅: 52, Andy 安迪: 38 7) $115 
8) A: $61, B: $46, C: $53 9) $2.5: 40, $3.5: 80 



 答案 Answer 

 

 ► A-11 ◄ 
 

1 4 - 6  
1) 100 2) 34 3) $2: 33, $1: 7 4) 16 
5) a. $2: x/2, $5: 3x/2  b. $259 6) 22 
1 4 - 7  
1) 28 2) 27 3) 13, 39 4) A: 21, B: 7 
5) A: 28, B:14, C: 21 6) 11 7) 9 8) 13 9) 27 
1 4 - 8  
1) 49 2) 9 3) 45 4) 9 5) 6 6) 14, 42 
1 4 - 9  
1) Sam 阿森: $80, Joe 阿祖: $40 2) $880 3) 17 4) 18 5) $72 
1 4 - 1 0  
1) 2.25km/hr 2) A: 45km/hr, B: 90km/hr 3) 60km/hr, 120km/hr 
4) 96km/hr 5) 3.2hrs 6) 53km/hr  
1 4 - 1 1  
1) 3.5hrs 2) 70km/hr 3) 160km 4) 13.2km 5) 36km 

1 5 - 1  
1) x ≤1/6 2) x≥–6 3) x>0 4) x≥7 5) x<50 6) x≥18 
7) x≤5 8) x>3 9) x≤0 10) x>10/3 11) x≥–2 12) x≤–15/4 

1 5 - 2  
1) x>–6 2) x≤0 3) x≤–5 4) x≥7 5) x>4 6) x<–8/5 
7) x≤12 8) x≥–27 9) x>–16 10) x≤8/5   

1 5 - 3  
1) x≥–5 2) x>6 3) x<–4 4) x≥–4 5) x≥–3 6) x≥25/3 
7) x<–2 8) x≤3 9) x<–9 10) x>3 11) x>–2 12) x≥3 
13) x<–9 14) x≤–3 15) x≤5 16) x<3 17) x≥0 18) x>–15 
19) x≤2 20) x≤11/7     

1 5 - 4  
1) x<0 2) x>7 3) x≤–4 4) x≥21/13 5) x≤–9/2 
6) x>–3 7) x<9/2 8) x<1/2 9) x≤3/10 10) x<11 

1 5 - 5  
1) x≤6 2) x≥–35/4 3) x<–2/3 4) x≥7/15 5) x<20/13 
6) x>7/9 7) x≤–49/33 8) x≤–4/3   

1 5 - 6  
1) x≥–5/16 2) x>–4 3) x≥–4/3 4) x≤–11 5) x≤2/3 
6) x<7/2 7) x≥6/13 8) x≥83/8   



答案 Answer 
 

► A-12 ◄ 
 

1 5 - 7  
1) No solution 無解   2) All real numbers 任何實數 
3) All real numbers 任何實數 

1 5 - 8  
1) x>–5/2 2) x>55/8 3) x≥2 4) x≥–11/9 
5) x>39/4 6) x≤7 7) no solution 無解 8) x<3 
9) x>1/13 10) x≤–5/2 11) x>1/2 12) x≥17/26 

1 5 - 9  
1) a. x≥25 b. y≤8 c. y≤46 d. m≥11 
 e. 5(4k)>30 f. 3x+7>19 g. 

2
x –4≤6 h. 27<

4
x –5 

2) 6 3) 29 4) 15 5) x≤ 14 

1 5 - 1 0  
1) 15 2) x<18 3) 48 4) x<7 5) 6, 9 6) 14 7) 24 

1 5 - 1 1  
1) 7 2) 119cm2 3) 7 4) 23 5) 11 6) 47 

1 5 - 1 2  
1) 88 2) 20 3) x≥2.1 4) x≤181 where x is a positive integer 

 (x≤181, 並且是正整數) 
5) 20

1 6 - 1  
1) (4, 9) 2) (2, –4) 3) (3, –5) 4) (–1, 1) 5) (5, 2) 6) (8, 9)

7) (0, 8)  8) (–6, –10) 9) (
2
1 , 4) 10) (

3
2 ,

5
1− ) 11) (

2
3 ,

2
1 ) 12) (7, 3)

1 6 - 2  
1) (9, 4) 2) (–2, 3) 3) (4, –1) 4) (–5, 7) 
5) (3, 0) 6) (3, –6) 7) (–3, 1) 8) (1, –2) 

9) (–2, 4) 10) (
4
3− ,

5
6− ) 11) (

25
27 ,

25
22− ) 12) (3, –5) 

1 6 - 3  

1) (
2
3 ,–2) 2) (

3
1 ,

6
1− ) 3) (

5
36 ,

5
22 ) 4) (80, 60) 5) (2, 0) 6) (4, 2)

1 6 - 4  
1) (2, 3) 2) (37, 34) 3) (4, 17/5) 4) (5, 5) 5) (2, 7) 

 



 答案 Answer 

 

 ► A-13 ◄ 
 

1 7 - 1  
1) (3, –7) 2) (–2, 4) 3) (–6, 2) 4) (3, –2) 5) (9, 6) 
6) (–2, –5) 7) (0, –2) 8) (15/2, 7)   

1 7 - 2  
1) (–4, 2) 2) (1, 3) 3) (2, –3/2) 4) (3, 4) 5) (4, 5) 6) (–2, –2/5) 

1 7 - 3  
1) (48, 20) 2) (1/2, 1/3) 3) (4/3, –2) 4) (4, 2) 5) (–1/3, 1/6) 

1 7 - 4  
1) (–23, –39) 2) (8, –1) 3) (1, –1) 4) (0, –7) 5) (–43/7, 2/7) 
6) (–3, 1) 7) (4, 1) 8) (–5, 3)   

1 8 - 1  
1) 54, 40  2) 40, 33  3) pen 筆:$7, pencil 鉛筆:$2   
4) chicken 雞: $20, duck 鴨: $25  5) pen 筆: $12, rubber 擦膠: $8 
6) $27, $24  7) 11, 7  8) 8, 11  9) 23, 18  10) 63, 7 

1 8 - 2  
1) 4/5  2) 4/5  3) 45  4) 42  5) 35  6) 72 

1 8 - 3  
1) Sam 阿森: 13, sister 姊姊: 18    2) A: 38, B:23   
3) Mary 美美: 24, Bob 寶寶: 16    4) A: 13, B: 3   
5) Peter 彼得: 25, sister 姊姊: 11 

1 8 - 4  
1) 17km/hr        2) boat 船: 18km/hr, water current 水流: 2km/hr 
3) 14km/hr, 26km/hr     4) 64km/hr, 70km/hr, 
5) 116km/hr, 76km/hr    6) 10.5km/hr, 7.5km/hr 

1 8 - 5  
1) $17 
 

2) Project 工作 A: 20females 女, 10males 男; 
Project 工作 B: 330females 女, 110males 男; 

3) A: 10hrs, B: 8hrs  4) 60workers 工人, 18days 日 

1 9 - 1  
1) 2x 2) 8 3) 6ab 4) 2mn2 5) 15p3q2 6) 21x2yz3 
7) 5a2y 8) 2x 9) a2b 10) 3x3y3z4 11) 22p4q6 12) 18x(a+b)2 

1 9 - 2  
1) 10a 2) 7x 3) 12a5 4) 2y3 5) 4x4 6) 14m3n 
7) –15x 8) –1 9) 3a2x 10) 15mp3 11) –8x4y2z7 



答案 Answer 
 

► A-14 ◄ 
 

12) –18ab8c8 13) 24rs4t6 14) 8a4b3c5 

1 9 - 3  
1) 8(m–2n) 2) 6(2a+3b) 3) b(a2+6b) 4) y2(x–4) 
5) 2x(x2–7) 6) 5(1–3a3) 7) c(a2+b2c) 8) 7x(1–8x2) 
9) 3y2(4y2+1) 10) 15a2(5a–1) 11) 2r(3r3–8) 12) 9q(2p+3q2) 
13) x2(x2–12+4x) 14) 5a2(3a2+7–4a) 15) 7(1+5xy5–4y5) 
16) 11(11ab+3bc–6ac) 17) x(3–10x4y+30x) 18) 2a2b3(8ab+6b2–15a2)
19) 15x3y2z3(3–5z+4x) 20) 9a3b3(8a2c+7b–9b2c2) 

1 9 - 4  
1) –15abc2(6+3a2–2ab3c) 2) –16x3y4(3y–2x2+4x) 
3) –9pq2r(4p2+3q2r–6pqr2) 4) (x+3)(a–b) 5) 28(x+y) 
6) 3(a–b)(2m+n) 7) (3y+2)(3y+1) 8) 2(a–1)(4a–3) 
9) 2(x–4)(x+14) 10) 5(2x+1)2(3y–2)2(1–4x) 

1 9 - 5  
1) , (x+1)(a+b) 2)  3) , (5a–2)(1–3y) 4) , (5x–2y)(4+n)
5)  6) , (2y–4)(x+1) 7) , (7–x)(7+6x) 
8) , 4(a–b)(1–2n) 9)  10) , (x−y)2(a+b) 

2 0 - 1  
1) ii   2) iii   3) i   4) iii   5) i   6) ii   7) ii   8) i   9) i 

2 0 - 2  
1) (a+x)(a–1) 2) (2y–1)(1–5x) 3) (a+3b)(x+2y) 
4) (x–y)(m–2n) 5) (1–r)(3+s) 6) (x+y)(2y+3) 
7) (x2–3)(x–3) 8) (a–b)(c+a) 9) (3y2–1)(y+7) 
10) (5−7x)(2–x2) 11) 5(x–2y)(3x+1) 12) (bc+3a)(2ab–5c) 

2 0 - 3  
1) (a+2b)(x+3y) 2) (3a+2x)(a+2y) 3) (m–5)(n–3) 
4) (1–r)(2–s) 5) (4–z)(x+2y) 6) (y+2a)(5–a) 
7) (x–y)(x+6) 8) (x+y)(1–ry) 9) (a+bc)(1+abc) 
10) (3x–2)(2a–x) 11) 2(4–ay)(a+1) 12) z(2x–1)(3yz–x) 

2 0 - 4  
1) (a+2b)(a+c+4) 2) (m–n)(mx+ny–p) 3) (x2–3)(x–y+1) 
4) (3b–c)(1+4a+2b) 5) (2x2+3)(3–ax–y) 6) (3+4a)(6a–b–2c) 
7) 4(1+2x)(3+2y+y2) 8) (st+6r)(3rs+t−s)  

2 1 - 1  
1) (x+3)2 2) (y–5)2 3) (a–4)2 4) (r–7)2 5) (y+2)2 
6) (3x–1)2 7) (6x+1)2 8) (5y–3)2 9) (a+6b)2 10) (2x–7)2 
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 ► A-15 ◄ 
 

11) (2a–3)2 12) (3y+11)2 13) (x–9)2 14) (2m+5)2 15) 9(a–2)2 
16) (x+12)2 17) (x–13)2 18) 2(3a–2b)2 19) (8x–1)2 20) 3(5x+2y)2 

2 1 - 2  
1)   2) , (a+3)2 3)  4)  5) , (3x–2)2 
6)  7)   8) , (4y–1)2 9) , (n+2)2 10)  

2 1 - 3  
1) (xy+5)2 2) (3a2+b2)2 3) (x2–2)2 4) (8–5x2)2 5) (7–3ab)2 
6) (5y2+3)2 7) (x/2–1)2 8) (m/3+4)2 9) (5+y/2)2 10) (ab–c/5)2 

2 1 - 4  
1) (a–1/a)2 2) (2x–3/x)2 3) (1/x+x)2 4) (3y+1/3y)2 
5) (2y+2/y)2 6) (a2+1/a2)2 7) (5m–1/4m)2 8) 3(x–1/x)2 

2 1 - 5  
1) (p+q–1)2 2) (2x–2y+5)2 3) (7–3a–b)2 4) (4–5a–5b)2 
5) (3x+5)2 6) 4(5x–1)2 7) (19–6x)2 8) (5a–6b)2 
9) 16(x–2)2 10) 4(3x+5)2   

2 2 - 1  
1) (x+1)(x–1) 2) (2+a)(2–a) 3) (a+b)(a–b) 
4) (x–3)(x+3) 5) (4y–1)(4y+1) 6) (5–2n)(5+2n) 
7) (10x+7y)(10x−7y) 8) (3h+2)(3h–2) 9) (8a+5b)(8a–5b) 
10) (11–3k)(11+3k) 11) (7y–3x)(7y+3x) 12) (6x+1)(6x–1) 
13) (12–11y)(12+11y) 14) (9y+2)(9y–2) 15) (5a–6)(5a+6) 
16) (13–x)(13+x) 17) (x+1/4)(x–1/4) 18) (1/5–3y)(1/5+3y) 
19) (6–5xy)(6+5xy) 20) (2–9mn)(2+9mn)  

2 2 - 2  
1) 2(x+5)(x–5) 2) 3(3–k)(3+k) 3) 4(3m+n)(3m–n) 
4) 5(2a+b)(2a–b) 5) 15(a+1)(a–1) 6) 2(10x+3)(10x–3) 
7) 3(4r+1)(4r–1) 8) 16(2+y)(2–y) 9) 4(x+5y)(x–5y) 
10) 9(3+k)(3–k) 11) 7(a–2b)(a+2b) 12) 4(2x–y)(2x+y) 

2 2 - 3  
1) (x–y+1)(x–y–1) 2) (2a+2b+3)(2a+2b–3) 3) (5–2x–y)(5+2x+y) 
4) 3(3–x)(5+3x) 5) (1–3a–3b)(1+3a+3b) 6) (10y–3x)(7x–10y) 
7) (3a–8b–4c)(3a+8b+4c) 8) 4(2x–3y)(5x+y) 
9) –25(3a+7b)(a+b) 10) 3(5x+8y)(x+4y) 

2 2 - 4  
1) (p2+1)(p+1)(p–1) 2) (2a+1)(2a–1)(4a2+1) 
3) (x2+y2)(x+y)(x–y) 4) (n2+9)(n+3)(n–3) 
5) (x2+3)(x2–3) 6) (3a2+4)(3a2–4) 



答案 Answer 
 

► A-16 ◄ 
 

7) (4p2+9q2)(2p+3q)(2p–3q) 8) 2(4q2+1)(2q+1)(2q–1) 
9) (a2+1/a2)(a+1/a)(a–1/a) 10) (p4+q4)(p2+q2)(p+q)(p–q) 

2 3 - 1  
1) (x+1)(x+2) 2) (y–3)(y–1) 3) (p–5)(p–1) 4) (p–3)(p–2) 
5) (x+1)(x+20) 6) (x+2)(x+21) 7) (a+2)(a+9) 8) (a–7)(a–2) 
9) (y–24)(y–1) 10) (y–12)(y–2) 11) (x+6)2 12) (m+2)(m+15)
13) (y+2)(y+6) 14) (n–4)2 15) (t–14)(t–2) 16) (x+2)(x+16)
17) (y+4)(y+16) 18) (r–14)(r–5) 19) (x+5)(x+15) 20) (x–9)(x–8) 

2 3 - 2  
1) (x–1)(x+4) 2) (x–7)(x+1) 3) (y–9)(y+1) 4) (a–1)(a+2) 
5) (m–3)(m+4) 6) (y–1)(y+8) 7) (x+2)(x–10) 8) (n–10)(n+5) 
9) (b–12)(b+2) 10) (t–3)(t+8) 11) (x–4)(x+7) 12) (p–24)(p+2) 
13) (q–26)(q+2) 14) (x–4)(x+9) 15) (y–4)(y+14) 16) (r–9)(r+3) 
17) (d–7)(d+5) 18) (a–9)(a+2) 19) (x–1)(x+33) 20) (m–2)(m+16)

2 3 - 3  
1) (x+1)(x+8) 2) (x–1)(x+8) 3) (x–4)(x+3) 4) (x–6)(x–2) 
5) (y–5)(y–3) 6) (y–1)(y+15) 7) (a–4)(a+6) 8) (a–b)(a–4) 
9) (a–12)(a+2) 10) (a+3)(a+8) 11)(x–2)(x+7) 12) (n–15)(n+3)
13) (t–18)(t–2) 14) (y+2)(y+22) 15) (y–8)(y–5) 16) (m–7)(m–6)
17) (x–3)(x+21) 18) (x–4)(x–5) 19) (x–25)(x+3) 20) (y–3)(y–1) 
21) (k–4)2 22) (a–2)(a+10) 23) (p–25)(p+4) 24) (b+1)(b+13)
25) (u–15)(u–10) 26) (t–15)(t+2) 27) (y–4)(y+18) 28) (y–9)(y–8) 
29) (x–12)(x–8) 30) (x–24)(x+4) 31) (y–16)(y–5) 32) (k–8)(k+9) 
33) (u–2)(u+50) 34) (x–5)(x+21)   

2 3 - 4  
1) (x–5y)(x–y) 2) (x–3y)(x+5y) 3) (m–5n)(m+2n) 
4) (p–3q)(p+6q) 5) (ab+1)(ab+5) 6) (xy–14)(xy+2) 
7) (mn–1)2 8) (xy–3)(xy+11) 9) (a2–2)(a2+1) 
10) (x2–7)(x+1)(x–1) 11) (y2–2)(y2+25) 12) (a3+2)(a3+7) 
13) (pq–42)(pq–1) 14) (x–4y)(x+5y) 15) (x3–6)(x3+4) 
16) (a2+2b2)(a2+3b2) 17) (n2–8)(n2–2) 18) (ab+c)(ab–10c) 

2 3 - 5  
1) (2+x)(3+x) 2) (15–x)(1–x) 3) (3+x)(7–x) 4) (3–x)(11–x) 
5) (20+x)(2–x) 6) (4+y)(6–y) 7) (7+x)(2–x) 8) (27–m)(2–m)
9) (17–a)(2–a) 10) (1+x)(8+x) 11) (13–k)(6–k) 12) (1+p)(25–p)
13) (14+y)(4–y) 14) (15–y)(6–y) 15) −(2–x)2 16) (12+x)(x–3)

2 3 - 6  
1) (2x+1)(x+1) 2) (3x+2)(x+1) 3) (a–7)(2a–1) 4) (3a–5)(a–1) 
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 ► A-17 ◄ 
 

5) (y+1)(5y+3) 6) (y–1)(7y–2) 7) (2x+1)(x+15) 8) (x–3)(3x–2) 
9) (a–2)(5a–4) 10) (p+11)(3p+2) 11) (x–4)(6x–1) 
12) (2y+7)(4y+3) 13) (3a–4)(3a–2) 14) (3x+2)(4x+5) 
15) (2y+3)(3y+7) 16) (x–6)(8x–3) 17) (3m+11)(6m+5) 
18) (3x–8)(10x–1) 19) (2t+9)(6t+1) 20) (2a–3)(9a–8) 

2 3 - 7  
1) (3y–1)(y+1) 2) (2x–3)(x+1) 3) (x–2)(5x+1) 4) (2a–1)(a+3) 
5) (a–5)(3a+1) 6) (x+1)(7x–5) 7) (y–1)(5y+3) 8) (3x–2)(x+2) 
9) (y–2)(2y+3) 10) (y–4)(3y+2) 11) (x+1)(5x+8) 12) (y+2)(4y–5) 
13) (2y+1)(2y–9) 14) (p+5)(6p–5) 15) (2r–7)(3r+2) 
16) (2m+3)(4m–5) 17) (2x+1)(6x–7) 18) (4x–3)(4x+7) 
19) (10y–3)(2y+1) 20) (2y+7)(12y–1)  

2 3 - 8  
1) (x–3)(2x–1) 2) (y–4)(3y–2) 3) (2y+1)(2y+9) 4) (x–7)(2x+1) 
5) (5y–4)(y+1) 6) (x+4)(7x–3) 7) (a–2)(3a–13) 8) (3m–1)(5m–1) 
9) (5r+2)(5r–8) 10) (2x+5)(4x–5) 11) (2x+3)(7x–9) 
12) (x–6)(5x–4) 13) 3(2p–5)(3p+1) 14) (r+7)(7r–3) 
15) (4y–3)(5y–2) 16) (2x–9)(2x+1) 17) (x+7)(3x–7) 
18) (y–4)(10y+3) 19) (t+2)(11t–3) 20) (3x–4)(5x–3) 

2 3 - 9  
1) 3(2x+1)(x+1) 2) 2(y–2)(4y+5) 3) 12(x–2)2 
4) 7(2m–3)(m+2) 5) 4(3x–2)(2x–1) 6) 6(5k–2)(k+1) 
7) 10(n–2)(2n–1) 8) 2(8x+7)(x+1) 9) 2(x–8)(x–5) 
10) 7(x–2)(x+6) 11) 3(y–8)(2y–1) 12) 5(a–8)(2a+1) 
13) 4(2a–1)(a+8) 14) 9(x–2)(x+3) 15) 2(y–13)(y+5) 
16) 4(y–3)(y+5) 17) 8(7a–1)(2a+1) 18) 3(r–6)(r+4) 
19) 4(p+7)(6p–1) 20) 2(2x–3)(5x+7)  

2 4 - 1  
1) (a+1)(a2–a+1) 2) (2x–1)(4x2+2x+1) 3) (3–y)(9+3y+y2) 
4) (m+5)(m2–5m+25) 5) (x–2y)(x2+2xy+4y2) 6) (4y+3)(16y2–12y+9) 
7) (a–6)(a2+6a+36) 8) (3a–2b)(9a2+6ab+4b2) 
9) (5x+2y)(25x2–10xy+4y2) 10) (ab–7)(a2b2+7ab+49) 
11) 3(3–2pq)(9+6pq+4p2q2) 12) 2(1+5k)(1–5k+25k2) 
13) 7(2b–1)(4b2+2b+1) 14) 16(m+2n)(m2–2mn+4n2) 

2 4 - 2  
1) 9(x+1)(3x2+3x+1) 2) (3–4x)(16x2+3) 3) 9(x+1)(3x2–9x+13) 
4) (4–3x)(9x2–15x+7) 5) 8(x+5)(x2+4x+7) 6)(3x+1)(3x2+9x+19) 
7) (x+2)(19x2+x+1) 8) (7x+4)(13x2+2x+52) 
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2 4 - 3  
1) (x2+1)(x4–x2+1) 2) (y+1)(y−1)(y2–y+1)(y2+y+1)
3) (a+b)(a–b)(a2–ab+b2)(a2+ab+b2) 4) (4+x2)(16–4x+x2) 
5) (3+y)(3−y)(9−3y+y2)(9+3y+y2) 
6) (1–2a) (1+2a)(1+2a+4a2)(1–2a+4a2) 

2 5 - 1  
1) (p+r−q)(p+r+q) 2) (2x+3y+5z)(2x+3y–5z) 
3) (a–x–3)(a+x+3) 4) (4y–2a+1)(4y+2a–1) 
5) (3x–3+y)(3x+3–y) 6) 3(x–2y+4)(x–2y–4) 

2 5 - 2  
1) (p–q)(p+q–1) 2) (a–b)(a+b+4) 3) (3m–n)(2–3m–n) 
4) (a–2x)(a+2x–1) 5) (1+2x)(1–2x+a)  

2 5 - 3  
1) (a+3)2(a–3)2 2) (2x+1)2(2x–1)2 3) (1–3y2)2 
4) (a+1)4 5) (3a+1)4  

2 5 - 4  
1) (x2+5x–4)(x+1)(x+4) 2) (y2–1–y)(y2–1+y) 
3) (x+2)(x+4)(x2+6x–8) 4) (8+9x–x2)(x–8)(x–1) 
5) (3a+1)(2a+1)(1+6a)(1−a)  

2 5 - 5  
1) a2b2(1–4b) 2) (x–3)(x+5) 3) (2y+5)(2y–5) 
4) (1+2a)(1–2a+4a2) 5) (y–1)(x+1) 6) (b–c)(a–d) 
7) (a–1)(3a2–1) 8) (3x+1)2 9) (m2+n2)(m+n)(m–n)
10) (x–1)(x2+x+1) 11) (y–m)(3x+2) 12) (y–2)(2y–1) 
13) (2a+3b)2 14) 4(2x+1)(2x–1) 15) 3(2x–1)(3x+1) 
16) (2a–1)2 17) 2(y+10)(y–10) 18) (x+1/x)2 
19) (7+8x–x2)(x–1)(x–7) 20) (x–2)(y–2) 21) (x–5y+1)(x–5y–1)
22) 2(m–1)(m–5) 23) (x2–2)2 24) (x–y)(x+y–1) 

2 6 - 1  

1)
3
a  2) 24x

1  3)
3
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2  5)

4z
xy  6)

2
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2 6 - 2  

1)
2
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y)a(x
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1) 60 2) 126 3) 36 4) 24 5) 6x 6) 6ab 7) 3(a+b) 
8) (x+5)(x−1) 9) (y+2)(y−4) 10) (x+3)(x−3) 
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12
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x
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11) T=
S
D  12) P=

RT
I  13) a=

h
2A −b 14) C=

9
32)5(F−  

3 0 - 2  

1) u=
fv

fv
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 2) v=
uf

fu
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 3) n=
d

ax − +1 4) a= 2t
ut)2(x −  

5) a=
1R
)1s(R
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−  6) n=

1x
1x

+
−  7) d=

1)n(n
an)2(s
−
−  8) b=

xa
ay
−

 

9) y=
1k

pmnkx
−

−−  10) r=
2ka

3k)s(1
+
−    

3 1 - 1  
1) 14 2) 21 3) 31 4) 97 5) 163 6) 21 
7) 64/3 8) 145 9) 5/24 10) −2 11) −10 12) 4/3 

3 1 - 2  
1) a10 2) 3t3 3) x6 4) 3x4 5) 6t4w2 
6) 6m4n6 7) −5c5d4 8) 2p7 9) a2b/3 10) 12a3 
11) −4y/3 12) −c2/3 13) 18a3b7 14) m4n3p 15) −24m4 
16) −n6 17) 4y3/3 18) −3y/x5 19) b6 20) −150x4y9 

3 1 - 3  
1) a12 2) 16c8d4 3) 27a12 4) 25x18 5) a6b9/27 
6) 64a6 7) x9y6z6 8) −4x8y9 9) −16x15 10) −8p6q9r3 
11) −1/2 12) −5/3a4b 13) x5y4 14) ax/y 15) 3x11y6 
16) 4xy6/75a2b7 17) −32a8 18) p8q 19) 4b2/y2 20) x3y7/27 

3 1 - 4  
1) −2p3/q 2) 2b/a5 3) −y3/3 4) −c2/45a5b7 
5) −u4/4 6) −q8r2/4p 7) −3/4y10 8) 64x2/9y3 
9) −8x6y9/125a9b9 10) 9a4b2/5q2 11) 15/d2ef 12) −8a8b9/3 

3 2 - 1  
1) 1/36 2) 1/8 3) −1/10 4) −27 5) 16 6) −1/25 
7) 81 8) 8/27 9) 25/9 10) 7/8 11) −1/6 12) 49 
13) 45 14) −6 15) 33/4 16) 29/4 17) −55/9 18) 2/5 

3 2 - 2  
1) 2/x 2) 3x/y3 3) a5/5b4 4) a2/6 5) x2y3/18 
6) 6/m3n 7) 5/y3 8) −4 9) 1/x7 10) b5/3a2 
11) 6/tw3 12) 14n3/m 13) 15/c5d4 14) 36p3 15) 1/a5 
16) 1/3a2b3 17) −4y6 18) 9/y9 19) −6a7 20) −2e2/5 
21) −3x7/y8 22) m3p4/24n6 23) 3a4/c4 24) −4x9 25) 4p6/q9 
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26) −9/5q 27) −30mn4    

3 2 - 3  
1) a12/b4 2) d6/c4 3) 1/32a25 4) 1/64a12 5) x6 6) 1/9x8

7) −27a6b12 8) 1/x6y4z4 9) −4y5/x4 10) x9/2 
11) −8q6/p9r6 12) 1/64a3x3 13) −7b10/3a3 14) y3/x11 
15) y15/a11x 16) 125/72x2y4b11 17) 3/x7y6 18) −3a2 
19) 1/32b9y2 20) 3/y7   

3 2 - 4  
1) −2p3/q4 2) a3c2/32b5 3) y3/162x5 4) a3/63c3 
5) −u5/10v6 6) r4/2p19q6 7) −3y10/4x13 8) 32y15/75x13

9) −12a8/b7x6y5 10) 56b10/9a9p3q8 11) 9e3/5df 5 12) 8a4/b13 

3 3 - 1  
1) 5 2) 0 3) −3 4) 1 5) −3 6) 3 7) −1 8) 1 
9) −2 10) −3 11) 1/5 12) 2/3 13) 7/6 14) 2/3 15) −8 16) 7

3 3 - 2  
1) 0 2) −5 3) −1 4) 2 5) 4 6) 3 7) 3/5 8) 3 9) −2 10)1

3 4 - 1  
1) 1/27 2) 24 3) 32 4) 27/5 5) 33n+2 
6) 2n-2/9 (= 2n/36) 7) 2n7  8) 3x9x2

5 +   

3 4 - 2  
1) 5(2n) 2) 5(2n–1) 3) 2(3n–1) 4)17(3n) 5) 10(3n) 6) 7(2n–1) 
7) 5(2n) 8) 83(4n–1) 9) 7(3n–1) 10) 6(5x+1) 11) 50(73x) 12) 

26(32n–1) 

3 4 - 3  
1) 4 2) 1 3) 0 4) 3 5) 2 6) 3 7) 1 8) –1 9) –3/2 10) 3

3 4 - 4  
1) 3/2 2) 5/2 3) 13/60 4) 5/3 5) 13/2 6) 7/6 7) 12 8) 83/18

3 4 - 5  

1) 2

2

ba
ab
+

 2)
a2b

ab
−

 3)
3y4x

xy
+

 4) 2
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yx
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+
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2b3a
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+

 8)
5x4y

3xy
2
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−
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3 5 - 1  
1) 35  2) 7−  3) 5−  4) 28119 −  
5) 24  6) 7133 +  7) 2336 −−  8) 2252 +  
9) 19153 −  10) 105203 −−  11) 17813 −  12) 5377 −  
13) x15  14) yx3 +    

3 5 - 2  
1) 6 2) 22  3) 23  4) 32  5) 52  6) 33  
7) 210  8) 25  9) 24  10) 34  11) 35  12) 53  
13) 113  14) 56  15) 132  16) 36  17) 72  18) 73  
19) 26  20) 8 21) 311  22) 103  23) 62  24) 29  
25) 58  26) 64  27) 54  28) 55  29) 262  30) 27  
31) y2x  32) ba23 2  33) 2q2pq  34) 2xy5y3  

35) 21ab3  36) 6mnn2m 22   

3 5 - 3  
1) 23  2) 32  3) 535 +  4) 74  
5) 325 −  6) 1056 −  7) 55  8) 311  
9) 22  10) 23  11) 56−  12) 222115 −  
13) 10264310 −+ 14) 6832 −  15) 217227 ++  
16) 2556 −  17) 310210 +  18) 3323 −  
19) a2−  20) x12   

3 6 - 1  
1) 512  2) 328  3) 48 4)28 5) 330  
6) 1144  7) 9 8) 1/8 9) 102  10) 32  
11) 616  12)1/2 13) 15 14) 63 15) 72 

3 6 - 2  
1) 4 2) 69  3) 36 4) 610  5) 221  6) 611  
7) 255  8) 1052  9) 30 10) 422  11) 360  12) 1036  
13) 270  14) 6220 15) 705  16) 303  17) 670  18) 3030  
19) 1415  20) 78 21) 2ab34  22) 3a5ab  
23) yx11 2  24) 22yx215    
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3 6 - 3  
1) 7  2) 12 3) 3 /2 4) 3/2 5) 62 /3 6) 10  
7) 62  8) 52  9) 7  10) 35 /2 11) 58  12) 24 /5
13) 9 14) 236  15) 3 16) 10   

3 7 - 1  
1) 225 −  2) 3323 −  3) 1025 +  4) 2127 −  
5) 5323 −  6) 52103 +  7) 56102 +  8) 1021213 −

9) 7630+  10) 7363 −− 11) 46 −  12) −48 
13) x5x −  14) 2yxy6 +    

3 7 - 2  
1) 5511+  2) 632+  3) 31928−  4) 559+  
5) 18221 −  6) 2326 −+−  7) 2236+  
8) 2714755 −+−  9) 238591012 −−+  
10) 14355225 −+− 11) 31426+  12) 1442162 −+−

13) 24x2x −−  14) 8x253x ++  15) y5xy92x −−  

3 7 - 3  
1) 223+  2) 31028−  3) 1027 −  4) 7823−  
5) 3413+  6) 24888−  7) 30213+  8) 10882−  
9) 61230−  10) 2112255+  11) x1664x ++  
12) x619x −+  13) xy44yx ++  14) xy12y36 −+  

15) xy4025y16x ++    

3 7 - 4  
1) 2 2) −1 3) −2 4) 3 5) 2 6)−14 7) 49 8) −44
9) −64 10) −11 11)−4 12) −57 13) a2−b 14) x−4y 15) 9m−25n

3 8 - 1  
1) 2 /2 2) 3 /3 3) 52  4) 72  5) 35 /3 6) 23  
7) 54 /5 8) 72 /21 9) 52  10) 32  11) x3 /x 12) ax /2a

3 8 - 2  
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